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m [ 326} 

5· � w::r �ffHctif � 1.JTT,sT if t- 5. This question book.let is divided into

..,,... .. Jf T,[1-i flrG'l'�rr, 
two sections - l3ection·A and
S.ctfon-B. 

6· 8'q'�Jf J; JOO 1.f,gA,a rr,:,- #,
f.;r-;q * '--if so rtRr '"' 3'iff' t=rr
�A11,d t, so mt w � "(f;T

"3rR' # -qr flP.l1:I" 50 "F.61' iJ- '1.&illi:IH 

�I f/riJ?f; • � l a;,,r � t1

R<fi7'3"7#·�3Q&a,'qf(Tlfrrr( 
OMR a-fR"-� f1 fitc{' 7rcr wfl' fiff,�

?fi1' ;ftr;r l � l(IFr -q:r Y � q;f t

fJ,,efj t:ft U¥1l $" 11$e'iff '; � 

Q�JV / lffl" / =ltlf➔ amt- ., OJI.R

� rnJ'1$' -q U4i11 .,.,, fRT t,

� Qfha, Wff11111 -31'111';:q ri'tn' 1 

1. «10,1 - .,, 'Ii 30 Fr! awfl• JJFr t ,

� "if; Im[ 2 ff � t, fiRir

ti ,...,, 15 'l1ffl 'llfT 'TTrr 'Ar

JHP,41,J t I � 6/ktNffi ffl � -sf 

s 'f(ld awlhl 'RFf rt,J, w t JR4'cb
"if; fi:frr 5 • � t, f?;r;pt '" 

fl.5.Jf 4 rtFIT' sr rrrr t-w a,At!i,,J 

t, 

6. ln Sectton-A, there are 
J 00 obJectf• type questions, out
of whtch any 50 questions are to

be answered. If more than 
50. questions are answered, then
only first 50 will be evaluated. Each
question carries J mark. For
answering these darken the circle

with blue / black ball pen against
the correct option on OJIR Answer
Sheet provided to you. Do not use
whitener/ liquid I blade / natl 
etc. on OJfR Answer Sheet,

otherwfse the result will be

treated tnvaltd. 

7. In Section · B, there are 30 short
answer type questions, each 
carrying 2 marks, out of which any 
JS quuttons are to be answered.

Apart from these, there are 8 long 

answer type qu.aatfons, each 

carrying 5 marks, out of whtch 

any 4 questions are to IJe

answered. 

B.
� 

I176R' "if; ffl¥;}Acf> 3q4ua1 ·w 8. Use of any electronic appliances is

'JT1itr,- 9.ufrllll cffJfrT t /
strictly prohibited. 
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l,l'l'g' - 31 / SECTION - A 

4�tld � / Objective Type Que■tiou 

RR' RIJJIII l 11 100 r,,,;· 11 Rri1¥ RR '6" mt1' V11 @¥<'fl �· 'f1r! t, fii,;,af � f!1.lr

1"lf It artR' ,m ¥ mt 'Rif filt1t<"I <11' OMR 1fJc rtr � llif 1 {it;;/(

SO w;i/'tfiTdffrf'I SOxJ = 50 

Question Nos. 1 to 100 have four options, out of which only one is correct. 

You have to mark your selected option, on the OMR·Sheet. Answer any 
50 questions. 50 x 1 = 50 

/. f: q;f Ji.Jfq'll.f qif; * � en) iptJ � f ? 
(A) �1fi:1111-t � � "4-tfi1J.tf.f 'li-t�:\I 

(C) �➔fi:IJtr➔ l&,�:t (D) � � cfill �
What is a group of many indifference curves called ?
{A) Indifference bundle · (B) Indifference map
{C) Indifference diagram (D) None of these

2.,,/. G1' �Jif � � +j4),if q;J M!Cfildl f:e+;qo1 ,lit � Jql{lifit cfiT � � � 
.__/ � f, � f.6@;{11tfl � ?

,.,,(A) 31-tftr'IM qJ;' 

(C) iNJGTiil
(B) 

(D) 

� gf!!JOI qst; . 
{A) 3ITT: (B) zyn 

The graphical representation of combination of two goods which 
provide equal satisfaction to consumer is called 
(A} Indifference curve (B) Iso-utility curve
(C} Budget line (D) Both (A) and (8)

"-�-�-// Ji-1ft1q1➔ ·lfif) c€t Rlqia s,Rit-t1N.J1 � cf!IT � t ?
!{At- ◄INi-t (B) ,, .. ,.,,...
(C) R-tR (D) �l)q;)f�
What is the marginal rate of substitution of indifference curve ?
(A} Increasing (BJ Decreasing 
{C) Constant (DJ None of these 
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m 
4. �� ,eaq ���tm �w1�q1:tqs,i16llfP.IT�t?

(A) cfilC<ft t (B) Vffl lfi«ft t
(C) � 1fR cfiltd1 I (D) . � -« � �

l 3261

At the optimum point of consumer, what does the budget line do to 
indifference curve ? 
(A) Cuts

_ (C) Cuts two times 
(Bl 

(D) 
Touches, 
None of these 

,.S·:/� 1dit cQfi cfit �-.rt� t ? 

8. • 

(A) \4::Uc:'iifi
(C) 31:Qf\4�

·. (B)
(D) 

What i s  the slope of demand curve ? 
(A) Positive (B) Negative

(C) Vertical (D) None of these

+11q1.:q � cfit iniT 3l11t -q ·� � "ffl'.t 'iP-11 itr1\' ?
, (A) 1'trft .{B} � 

(C) �� (D) �'«�
What would happen to demand for normal goods with rise in
income?
(A) Increase· (B) Decrease
(C) Remain constant (D) All of these

◄Nil( ·,dq 1:85 31t1•1-31t111 &lfttitn � lf11T .i65 .ilit -.rt 'gtm t?

(A) 'Z1T'1' (B) :eq-t<16ta '-1i6t1wt

(C) 3m: 1-t�r (A) 3ltt· (B) � .

What is the market de111:and curve of demand curves of different 

individuals ? 
• 

(A) Sum (B) Horizontal summation

(C) Difference ....-:irtfl'I' (D) Both (A) and {B}

� � ""' -qfst cfi1j. 314f'4< 'I 'ffl llFT lfit � I ed I -.rt 1ftrft ? 

(A) I e d I = 1 p (B} I e d I = 0 

(C) I e d I = 00 (D) I e d I < 1 
_.,,.. 

--------...,,r,:2;:;4'/ A-;-/�X;;:U;---Si=,0'11-:;3-:•11=.,::,40=,Tj ____ ap::ag::e:'":i4�/'332 
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m l�I
If the demand curve for a good is vertical then what would be the 
elasticity of demanded? 
(A) I ed I = l (B) I ed I = 0
(C) /edj=00 (D) jedj<l

9. � 'ftlq; 1W1 qJfi ftR:r � tR x-3l8if � cfilldl � � 1'frT � � � irR
lf1.tT � l ?

10. 

(A) I ed I =0 ·

(C) I ed I =
00 

(B) le
c1

l=l
(D) led I< 1

At the point where the straight line demand _curve cuts the x-axis, 
what is the value o_f elasticity of demand ? 
(A) I e d I = 0 (B) I e d / = 1 
(C) I ed I = 00 (D) I ed I < I
1fi1T cfs6 i61 ttaflcfi<Ui p • q 

= e � p �, q imrr &tt e @R i I ltt' lWT cfs6 
cfilcflfl3Ticfi'R�? 
(A) � lfr ,lfft � cfs6
(C) lfl1fi1Jsl 

(B) 
(D) 

&t llld lcfi-1( di RN,cfrill 
MN( 1JsT 

The equation of demand curve is p • q= e where p is price, q is 
quantity and e is constant. What would be the shape of this 
demand curve ? 
(A) Downward sloping curve (B} Rectangular hyperbola

_ (C) Straight line (D) Vertical line
�--�---- �tfoqcfl-tlf �ijcf>I 3i:<tlc{.:i _cfmft 1° ? 

". (A) �311 itif (B) 
(C) ffl'tiil l{l)f 
What does the economy produce ? 
(A) Goods (B) Services
(C) Profit (D) Both (A) and (B)

�/-
,_ 

11.f11 Atri<o1 � 3Q'41dil &.tcll?I( iil JtUl<M � 3ftr.fil\iil � �
��•? 

(A) � 3itNilW v(Bf � 3ttf�11• 
(C) Jt-+1«11"4 attf:111.t (D) ����

I 24 /A/ XH-50 l 3-(37/401 I Page 5 / 32 
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13. 

I 3261 

Price determination and consumer behaviour is studied under
which economics ?

(A) Macroeconomics
(B) Microeconomics
(C) International economics
(D) None of these
� 1929 � 1933 * � � n c1f 3i��iifil cm:ft if �d� iliNPIR � ?

(A) � (B) . �fHI
(C) � (D) qf:qqf

Between the years 1929 and 1933, in every nth Americans
............... was unemployed. 
(A) Second (B) Third
(C) Fourth (D) Fifth

a · 14. {-.i11ql<t) � if 3Nta;.f 8f?:t1cht114 �«\, �-ij irffl' t ?
'I.,�•-~ 

(A} l-t(ifil( (B) �
(C) {-.i1i«u<t) at1fq<lf (D) � � � ;nft
In a capitalist economy the production activities are in the hands of
(A) Government
(B} Workers 
(C) Capitalist entrepreneurs
(D) None of them

15. 3ltf&4EH�I if � �ailft �ufq � � {m � � 1 ?
(A) q1f\e111tcfi � (Bl t1(1:Jil6 � 
(C) . gq1q11\ifi � (D) � '8 �· �
In an economy decision regarding consumption is made by
(A) Household sector (B) Government sector
(C) Business sector (D) None of these.

16. Ptt1h1 -ij ftfitfl � QllJ �
(A) �i���t

(B) ·�-q����•
(C) -� � i atl�Rla � � i
(DJ 'fllii� 

I 24/A/XII-5013-(37/40) I Page 6 / 32 
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m 
In export by a country the goods 

(A) are purchased from abroad
(8) are sold abroad
(C) capital is invited into the country
(D) all of these

: \_// !!Y Jt<ilcf-t � � � $ 3ml 1JiT .� � f ? .
(A) p � � 
(C) llftr (D) 3Ulft

The income of which factor of production is �ailed profit ? 
(A) Labour (B) Capital

(D) Entrepreneur

f 3261 

-�"
..--

...__,,,// 18. 
(C) Land 
� � sij {"6c11cfl fiili $ .an ... 11◄1 11'"1 1fl' 34efci4qt:ti, -q � P1cde

� t? 

(A) �cf>�d �
(C) (A} 3fft (B) �

. � PcfcfHiit:tftH t:tr 

(D) �ll��
In which country, besides capitalist sector the state also plays a 
role in the economy ? 
{A) Developed country (B) Developing country

(C) Both (A) and (B) · (D) None of these

12_·_ cf't!!' � � &R .. 4cf>lf€iifi 341t)i1 i° � ;rgf �, cRl cfig'.etltft 8? 
�/ (A) lftlliitff � � aifast � 

• 

(C) R.ifi13, � (D) {..sfta1a �
What are the goods that are not destroyed by short term
consumption called ?
(A) Intermediate goods (B) Final goods
(C) Durable goods (D) Capital goods
� 11URT. � �lt+:41 � ft;lf lff§. 1J1JRJ � 1IR 11 � t ?

(A) aifitq � �· qgqq<ff cR§ 
(C) � cRg (D) Qq;1a; �

Page 7 / 32
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m I 326) 

ln the problem of double counting, which good is counted twice?
(A) Final good (B) Intermediate good

(C) Capital good (D) Durable good

� .. • 21. � 4'1;:,,I( � 10,Jif( lfliT � 61�.liil( it, ffl l{l �f<, cfTT 'if'ltT � �?
' (A) �g<'.'14 (8) �

(C) ::,tft(im (D) � � � -;rgf
When market supply is equal to market demand then this situation
is called 

(A) Equilibrium (B) Excess demand
(C) Excess supply (D) None of these

22. f'ilfi,l � ill::itl( ·� 'Slifi'R qi{ ill..:ill( -g?
(A) ((chlftlafil( (B) ((cfitftlifilfl s:iflH_:qQT
(C) ��l�ifil< (D) � 51fa4�fr1m
What kind of market is market for biscuits ? 

(A) Monopoly (B) Monopolistic competition

(C) Oligopoly (D) Perfect competition

23. �g<1.:t � � � � � 'ql,: 1ff1T ( D) � :wtl\1T 1lffi ( S) i;fq'[ ·-gtrfi?
(A) D > S (B) D < S 

(C) D = S

At a price more than equilibrium price, what will be supply ( S)

compared to demand ( D)?

(A} D > S (B) D < S

(C) D = S
.......,..,,.,_ 

-.:ii..- (D) None of these

24. � � -ij t:igl-1-1 ifilqa � imn � qf\c4a-=1 � b � �"'t ?

(A) �1U1'f'qsli���t

(B) ��cfli���t

(C} 7jlil,�qs6��ifi«fft 

(D) ���-;Jt{f

( 24 / A/ Xll-50 l 3�t37 /40) \ Page8/3 
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m [ 3261 
In which situation is the change in equilibrium price and quantity 
is in the same direction ?

(A) When demand curve shifts rightward

(8) When supply curve shifts rightward
(C) When supply curve shifts leftward
{D) None of these 

_/,25•/ mR '4ft � -ij fticl� q'@T � �cfil 3�1�01 � ?
,' 

._, __ 

·, (A) Jiqftq f.nnfuJ cih)qd cfiT (B) A'-fttq �14fttcf i#IJid cfiT
(C) tigcl-1 ifiliut c1i1 (D) � lt ci>1l �
Wheat sold at ration shop is an example of 
(A) Ceiling price (B) Minimum support price
(C) Equilibrium price (D) None of these

�/�6. q;i,l cfiT ◄1"111( if "3Fffl 3ff{ -�•P-1-t � � ? 

..{Aj ';,,fil' � 3lRl"-fiilql� ��cf){ {gt '7 

(B) '1if 'CR tilq1.:q � 3t�d iii( � w"f 

(C) ';,,f"if � ifit � � � '8)
(D) ���;rtf
When will the entry and exit of firms in the market stop ?

(A) When firms are earning supernormal profit

(B} When the firms are earning normal profit 

(C) When firms are experiencing loss
(D) None of these
A&..taq A11fr«t c#il11a ;ftftr ll f%fli:Gl aq�1 � � t?

(A) 3t�'{Rf c#ft (B) .7flftli4i•r iJit

� � l_ffi c1;J (D) 

The minimum support price policy gives rise to which problem·? 

(A) Excess supply (B) Excess demand
(C) Low supply (D) None of these

Page 9 / 32 J 24/A/XII-5013-f37/40J j
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28. 

I 326 J

itffl 111.Jil( Ril:ei.f � 3ft1: 'q;lf ir-it �I@ fEfl¥i(iiM1\ '1:, � i4-i�i:1Hil t ?

(A) ((ifilJt.iiihl( , {B) � 51fflw1TI

(C) ��tftlq:;1( (D) � it ·ifili �
What is the market where both consumer and firms arc Price
takers called ? 
(A) Monopoly (B) Perfect competition

{C) Oligopoly (D) None of these
29. � �fidl � '5RiR � ◄l-i!R lg) llliltt �f<\i t· ?

{A) � 51fa41fna1 (B) ((ifil�ifiR
(Cj �@-t1ftlc61( (D) m it � ;rgT
Two sellers is a special case of which type of market ? 
(A) Perfect competition (B) Monopoly
(C) Oligopoly {D) None of these 

30. ((i61f'tiiitit6 Slfa�tn fthl:t� cifil(UI ·� inft t ?
(A) ea R11tt � � cfil(Ut (B) 3t,Q::.iltd't4 � � <6l(O'l

(C) � �1.:11q1 � � ifil(UI (D) � it 1f»li ;rgf
For what reason does monopolistic competition arise ? 
(A) Due to homogeneous good .

(B) Due to non-homogeneous good
(C) Due to perfect substitute goods
(D) None of these

�- f.\1::J -q � �3it <fi1' � -q 3Tiffl t ?
�"' 

(A) '11t"l4H � (B) 1ft1:rr
(C) q,)�11 \..�Bf"' - � -« -e,:ft
Which of the following is under the category of services ?

(A) Canteen (B) Insurance

(C) Coaching (D) All of these
� -q � �ftt; cff,gaif ifiJ ��1('1 ifil: lgJ t ?
(A) 31UiNilh (B) ffi
(C) ft!tt"11'1 �· !!"14il 

---------,(r::2:-:-4-;/ A-:-/-::X-::II:--5:::0:-:l:-::3:---,a- !7 -/40-1
11-------:P:-a-ge-:-;l 0�/-,--;32
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m 
WhA.t do we mean by the word 'market'? 

(A} Place like a square, local market etc. 

I 326 J 

(B) Means by which the buyer and seller are in touch with each

other like phone

(C) Online, shopping portal

(D) All of these 

mu,--q��t? 

(A) � 31?-i&lct�l (B) 41.Jt.:tliii\4 34d6Qct(,2JJ

(D} �-«�� 

What type of economy is in India ? 

(A) Mixed economy (B) Planned economy

(C) Market economy (D) None of these

_.---38. � c#TT 1fill-1l_ffl � � � 'i.fif f.:lt1i(o1 f(f;eifi 31d1id &ii4ll4 � � i? 

(A) ttcbl<li:'fcfi �t.f:tll61 C" (B) _ � �e:f:tll61 

(C) �1¢.ffch � (D) (A) 3ltt (B) �
Under which of the following is �e price determination of goods by

demand and supply studied? https:/lvVVvvv.bsebstudy.com

(A) Positive economics (B) Microeconomics

(C) Normative economics (D) Both (A) and (B}

39. 1$a 31t'f;sqc1�T ij � 3itfcqct�I 7'rr WS � � � .Ql-41'-I.O cfil t°af.lilA

W@T t?

((A} 
"'-.,_ 

__ ,.,,,,�/ 

(C) 

�3lti6Et◄� 

{Jlcu� � 

(B) 

(D) 

��i>d 3f�otl◄+tfi

�'tt�� 
In which economy are the resources allocated for happiness and

prosperity of the whole economy ? 

(A) Mixed economy (B) Centralised economy

(C) Capitalist economy (D) None of these
--

---------,lr;::2:-:;4-;/ A-:7./ X�I;-;-l _-;;5�0-:;-:13;;-_-:,a=-.,,�40=-11\ -----:P:-:
ag
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40. � 00 cf> asflifi(Of P1X1 + P2X2 =M, 'q' Pi, P2 1fZf1 f?

(A) cffg 1 wi � 2 � � (BJ � 1 � � 2 lfrr 1ff5ff
(C) aq,{hbr c#;l 3ff1J (D) � � tmf ;rtf
Jn the equation of budget line Pi Xi+ p2x2 =M, what are p

1
• p

2 
? 

(A) Prices of good l and good 2
(B) Quantities of good 1 and good 2
(C) Income of consumer
(D) None of these 

41. f.p:;r if l) � � cfii. � tfffcliqf\ � � qP;sofi\a � � t ?
(A) � (B) aq�:,I
(C) A4�1 (D) 'fM lf lPft
Which of the following variables is defined for a time period ? 
(A} Income (B} Consumption 
(C) Investment (D) All of these

42. M if 'ff� ,)fWi5qcff?4i 'f.61 � � ?
{A} 1N-l (B) ihr4fHzt lfiJ �
(C) �, �' � 3llf \..fBr � 'ff lflft.__.-
Which of the following is capital of economy ? 
(A) Building (B) Office place
(C} Road, bridge, airport (D) All of these

✓1i3. {Jfl•1n �Ji 'f.61 f.l4JT,<t {c-l(l � eqPf1Jt..f W·iAT � 1?

(A) Qch{-f � · (BJ � Acl:11 

.- �WRf (D) �l)iblf;rgf
What is the adjustment for routine wear and tear of capital goods 
called? 
(AJ Gross investment (B) 
(CJ Depreciation {D) 

44. {Jfl1Jd �3ffcfil'J;clifit-rl5<fflt?

� ��™ � 
(C) 3111ft . {D) 

Net investment 

None of these 

f 24/ �/Xll-5013-(37/401 ( Page 13 / 32 
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Who purchases capital goods ? 
(A} Consumer (B) Businessman

(C) Entrepreneur (D) All of them

� �fa; * 'qJQ' �ail ih1 &th�� i€I' � fcMca 31Rft' t ?

(A) 't1ft i \ (B) 3lJlf i
(C) �i (D) �il6lt�
From where does a man get the ability to purchase goods ? 

(A) From capital (B) From income

(C} From land (D) None of these

{ 326 

lm-1 �t{6qqft41 '$ 3lllf '$ $ � if 3NiC:..f � cfilOO $t lWT llft".r 
i:.fi<dl t ? 
(A) qfti!il( � (B) &:114R �
(C} '4(:tt � (D) �icmi�
Who demands the factors of production in circular flow of income 
of simple economy ? 
(A) Household sector (B) Business sector

(C) Foreign sector (D) None of these

�
-:--- �tfcqq+tlJ it qfta1< � {l'(J � � lSIPI lfiT � � t ?

(A) , �4:tl � � ,isq\f\11 ii2Pr 
(C) 3n4id � (D) �:qfa ii2Pr

In an e_conomy what is the expenditure made by household sector

called? 
(A) Investment expenditure

(B) Consumption expenditure

(C) Import expe?diture
(D) Export expenditure

�

r 

� Jf<IIG-t sr,1,q it � iffg31T i6I ,341.ft•i cMdl ,, ?
,� cf,,iii 'IJ@ (B) GUiqdf �

(C) 3ifaq � (D) (A) 3ft{ (B) cU:if
----------,-::::--::-:-:---::-::-:--=-::-::-:----,---------=---
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m [ 3261What kind of goods does a firm consume during th 
rod , · · · · · . . . c process ofp uct1on? 

(A) Raw material (B) Intermediate goods
(C} Final goods (D) Both (A) and (B)

49. eq;ct � qftra - A - Aqct � 4Rft1, � A� t ?

so. 

(A) �11lt (B) �q'ftfa
(C) q;lf �.ftrs#it (D) ��cfill�
In Gross value added - A= Net value added, what is A?

(A) Depreciation (B) Value added
(C) Sale of firm (D) None of these
iflf«; e<tiH � ,3tql� � 1101.fl fcR � 'q'( ?fit � t ? 
(A) qfflU-i ih)anif CR (B) 3lNR qi{ chllfnl 'R
(C) �· ihllftn "R (D) � � � �
Nominal gross domestic product is measured at which prices ?
(A) At current prices (B) At base year prices
(C} At constant prices (D) None of these

s 1. � 2023 q;r aq1l1m1 � t1_,q<fii<ti � � sill -m � �eif � ?fit gct..fi 
2010 � 4,lauif � 'ihl" ;jii41ft, at 2023 � 2010 shl4.:tl: � f? 

52. 

(A) 3mm qf{, � cfli . (B) "iffii cl'f, "iffii d

--{€) � d, 3lNR d (D) 3TI!1R q'.f' 3TI!1R cl'f
If consumer price index for 2023 is being prepared in which prices 
would be compared with 2010 prices, then what are 2023 and 
20 l 0 respectively ? .. 

(A} Base year, current year 
(B) Current year, current year
(CJ Current year, base year 

(D) Base year, base year

if'.f 2020 q;J � � Et.◄•i• hit cm�, � d '$ 1lR i4 g�i-t• "' 
auil .. ft ?
(A) <idifi.f 'ri (B) ammd
(C) 2023 (D) 1947

f 24/A/Xll-5013-caT/40) I Page 15 / 32 
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53. 

54. 

1326) 

020 the prices of whichFor preparing consumer price index of 2 · • 

year "Would be used for comparison ?

(A) Current year (B) Base year

(C) 2023 (D) 194 7 

� � �· ltit 'iil:fi<1 q JNIC: a-ff ':1'-Mt � 3NiC: l:1 3ttt4iti 'gt 'ffl 
��-� l:1 '5trn f4◄t-1 EfilWi 3TP-f ql.fT itJft ?
(�) Sfi:Oll<'fcfi (Bl tt-1iMEfi 
(C) 1f'i (D) �-«"ifitt�
If a country's gross domestic product is greater than its gross 
national product then what would be the net factor income earned 
from abroad? 

(A) Negative (B) Positive

(C) Zero (D)

Achfl .&f Slfll� � = .:.,:tSlfq� ifi't - z ?

(A) Z = Slfq� ifi't (B) 
(C) Z=f.rrrlJ� (D) 

None of these

Z = 3CtlGl-1 

�it�� 
Net Indirect Taxes = Indirect taxes - Z ? 

(A) Z = Direct Taxes (B) Z = Factor 

(C) z- Corporap.on Tax (D) None of these

/BS: ffl � TR lffli � fiMti:61 3Gig(UI t?

I� 3q�l;'I lfiT (B) 5k4G �ctil
(CJ a:ISit,q� � ifi1 (D) �"S��
Cooking gas ( LPG ) at lower rate is an example of 

(A) Subsidy (B) Direct tax

(C) Indirect .tax
__ 

(D) None of these 

�:, Ai:J it � fGlifil frf A q� � 1u0tq q; .-'1 it a,41:ftfil-. �.1:4a1 t ?

(A) IIQq51 \� � 
(C) 'l.-Qqftt (D) rc-ftlu1QJ � 

( 24/A/Xll-5013-,37/40) I
-
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Which of the following means of exchange ha• univcrtal
11<.-ccplancc ? 

(A) Bond (8) Gold

(C) L:-tnd Asset (D) Legal tender
S7. � � lt �� t164tft¢1( 4i � � 4;t 1'frT if� qf\qJ-1 �? 

(A) � (8) �

(C) � wft (D) � lt �

What would be the change in demand for money for transaction 
purposes due to rise in prices? 

(A) Increase (B) Decrease

(C) Remain constant (D) All of these

,-58. \il{cfi� ft;rcf fcf; � � <.#;t � � �cfilfqcfi IJM '4 _Ml cfil � � � t ? 

(A) � -;m a:ITT � (CC)

(B) IWT � (DD)

(C) slintH � fit>-ij � �

t,fBJ. (A) � (B) zyft
Of the alternative measures of supply of money by Reserve Bank of 

India which is the correct component of M 1 ? 

(A) Currency note and coins (CC)

(B) Demand deposits (DD)

(C) Savings deposit in post office savings bank

(D) Both (A) and (B)

� . _!!!�([tfif> � � ri if «IT � t ?

� �Jqfb � lJ@l (B) � ;;pJJ ffiffl

(C) q'R-1_�ffiffl (D) �lt��

Time deposits are kept in which account? 

(A) Term Deposit Account (B) . Savings Deposit Account

(C) Current Account (D) None of these

[24 / A/XII-SO 13-(37/40) I Page 17 / 32 
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� IMtfl CU lf � � DD '81 lfr ifibfl' � 313qla' cfllT imt ?60. 

61. 

(A) CU /DD (B) DD/CU
(C) DDxCU (D) �i��

. . . th hat would be current'!lrIf currency 1s CU and deposits 1s DD . en w •3 

deposit ratio? 
(A) CU/DD (B) DD/CU 
(C) DD X cu (D) None of th�se
sftlllftifilq 'S11lftt 1" '<nlf 16\' 1-ffl qfli �. 3itt � cfit:1ft ?
(A) 1fPff 31R (B) �1ft..fl 3TR
(C) �ifit 31R (D) �"8��
Due to technological 
supply curve shift ? 

progress, in which direction will a finn11!

(A) Leftward (B) Rightward
(C) Upward (D) None of these

s,, 

62. Eftqi(I t111id 'B �ttd q�qdf l-1111d cfi> � � � 'R ifiil<11 t ?
(A) a,iiiidit � 'R (B) ..!fldlifil"S, � 
(C) fiRff'§q11Q'q (D) «rn'1'ltls'V6�
The marginal cost curve cuts the average variable cost curve at 

which point ? 
(A) Highest point (B) Minimum point

(C) In declining portion (D) In rising portion

/-" � -q � � � 3l8R 'U' � 3lf'i6R i:fiT 'g)-ar t ?
(A) � � t1111d � (B) � eil'lfl qSfi

,.,,-tCT �· qfrcuff t1111a ifli � � � � ':ttl 
Which of the following curves is of shape of English letter 'U' ?
(A) Total fixed cost curve

(B) Total cost curve

(C) Total variable cost curve

(D) None of these

-------i-="'.:""7":'"'-:-:::::-��-----��• l 24/A/XIl-5013�11T/40) I Page t8 / : 
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54. (q � JNl(-1 tR � Hl11d) - (q- 11ifi1't 3Ni(f-f q{ � Hl•ti'I') •?

{A) JftRa t'll'irl {B) <flqia t:f lifd 

{CJ � Hl1td {D) � "8 � � 
( Total cost of q units of output ) - ( Total cost of q - 1 units of 
output)=? 

{A} Average cost (B) Marginal cost

(C) Fixed cost (DJ None of these 

65. eilf 111'f Hr•ld qi' � � dllld <ufi, $n � 3nifi.i( � mff f ?

{A) � 'U' .. 3Tiifi'R cfiT (B) x-31¥ � eqid(

{C} � 'S' 3tiiifil( cnT � � i if>1t � 
Marginal cost curve and average cost curve, both are of which 
shape? 

{A) Inverted 'U' shaped · (BJ Parallel to X'-axis

(C} Inverted 'S' shaped (D) None of these

66. � � 31Pfffl 11 t ct> 1) � � 1nft t Ale" aN,�➔ '1t' t !fD q; � 't
m � ifflT -- t ?

(A} � � �, Slfa'hitl (B) qtf•n➔ � c6I srfa'ht1

cc; 11e1t1➔ � q;r sdaq,{1 (DJ �i��

If all inputs are increased t ( t > 1) times such that output also . 
increases t times then what is this called ? 

(AJ Constant returns to scale 

(B) Increasing returns to scale

(C) D iminishing returns to scale

(D) None of these

67. ffl-l•JMtt J:NliFI� q=Xi« xx2
P lf� cx+Ji>l,<ftllgcfllT�1fa1t?

(A) � � iBl YRl'hM (B) ifQ'ili-1 � lfiT Slftt'brl

(C) 11@111.:t � <lil SIRl'hM (D) � � l5tf -=rlf

. f 24/A/Xfl-5013�tff/-to) I Page 19 / 32 
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I C • "xx I} if u+A.>1 th.t··• n obb-Douglass production functten q==x1 2 ' ..., • ett; 

68. 

what does it show? 
(A) Constant returns to scale
{B) Increasing returns to scale 
(C} Decreasing returns to scale 
{D} None of these
� � � � tR � €'tllld = ? 
{A) lft11ia <HI•u1

__ (B) 
(C} � qf\cnff <Hl'ld {D). 
At zero level of output total cost = ? 

(A) Marginal cost {B) Fixed cost 
(C) Total variable cost {D) None of these 

.......,.,-69. A� ·<:1tal<1 / Aq =?
(A) 3frlra cll/11?1

(Cl � qftqdf €1t11a

ATotal cost/ Aq = ? 

(B) �"iqia etlll<t

(D) �it��

(A) Average cost (B} Marginal cost 

(C) Total variable cost {D) None of these 

70. 3ffti4iiel � � cll11d l1i> ?.fit��� t ?
(A) ,KUll(ifqi (B) -Q�H:q�

(C) � (D) �it��
What is the slope of short run average fixed cost curve ? 
(A) Negative (B) Positive

(C) Zero
--." 

(D) None of these

8(41� 3lP-J � fl.ld(IJI tf,1 llt;el� 15 � � f6(d\ t ?

(A) Q;ft i\' ad�ifi � _ ........ (B) 11tlci1 � �ftlc:6 � 
(C) e1flJC�Wi �3ll lfit Sll��t,t (Dt-" � 'Q 1il1ft

� --------"T[";:;-247/TAA�/vXl"l��s:no:"13;--=,a,::,40:=,t i-----;:P;:a::ge:-;,20 I :,
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What does the government do to change the distribution of 
income? 
(A) More taxes from the rich
(B) More expenditure on the poor
(C) Provision of public goods
{D) All of these 
'{Jl11a st,fRm � l{an} � ire; cm � ? 
y'i} ii 1"11( � 
(B) � ffl

(C) �,J_,,f.:Jq; 3456'fl � � � fWl' '« 3lA
(D) �i��

Which is the most important head of capital receipts ? 
(A} Public debt 
(B) Small savings
(C) The income from the sale of shares of government enterprises
(D) None of these

7.3. u::ilcnltflll ;ftfu lf)T � � cm � ? 

74. 

(A) f.:Fra -q � (B) � 0-ii•II( fa{ Jl'TR �
{C) JWJij� � �i�

What is the main objective of fiscal policy ? 
(A} Increase in output 
(B} Achieve high level of employment 
(C} Increase in income 
(D) All of these
(i"(q,j{l ciq1J � � t ?

(A} 
6Y -c

(B) 
AY l 

-= 

AG
= 

1-c6T 1-c

(C} � (D) � "6 cfitl -rg'f
What is government expenditure multiplier? 

AY -c AY 1 (A) 
t:. T = l - c

(B) 
AG = 1- c

C One D None of these 
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75. Et�ff��cll��-?

lAl � (B) 
(C} � (D) 

What is the value of balanced budget multiplier ? 

(Al Zero {B) One 
(C) Two lD) None of these 

76. . � 'q "Q �� al'ldi � � � � ?

(A) olPt"Q (B) �"8
+-te1 ;gQJ -e 9') m i l1\1t

Due to which of the following there would be bu rden on future 
.l

generation ? . l

(A) Expenditure (B) Tax
' ' 

(C) Debt (D) All of these , 
qfleqfa<ti � �, �, "'"'f4 � lfit silt-�564 ��-{\I,��� 
ltmi? 

(A) �� �l tif'S@'I 
(C} �l{flJd 1iTffl" {D) �"Q�� 
The details of sales and purchases of assets like currency. stock 
bond etc. are kept in which ac count? 

(A} Current Account (Bl Capital Account 

(Cl Reserve Account {D) None of these

.-/�/ �q4 � � lf14'lltt"81ff« lWll ? 

£ 34i◄ld (Bl 

(C) tfl f.\t\,1 {D) 

Ptar'itt 

�t�� 

What will decrease due to exchange rate depreciation ? 

{A) Import (B) Export

___ tc_1 __ c_a_p_ita1 __ m_v_es
-,
tm

�
e
-:
n

�
t"":"::":�(""'.:'D_) _N_

o
_
n

_
e

-.o _r_th_· _
es_e ___ -:::--1
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79. � ,Jf'P.fgqq�J 1'>1' tfg("f-1 � Wf1ff ?
(A) Y=C+ 1 (B) 
(C) Y = C +I+ G + X - M (DJ 

What would be the equilibrium of open economy ?
�) Y=C+/ �) Y=C+I+G 

f 326) 

80. 
(C) Y=C+/ +G+X-M (D) None of these
� -q � qT t, � -lf?.f&.iqt-tn ifil � 3lt1cJT � 3M&lcl+eil cfi'f !r'Ji6 ? 
(A) � 3l'fcqqftrr cJ;J � (B) � 3:r�◄+ttt ff>T �
(C) � il(liif( f (DJ �· l) if>1t � 
Which is larger, the multiplier of open economy or the multiplier of 
closed economy ?

(A) Multiplier of open economy 
(B) Multiplier of closed economy
(C) Both are equal
(D) None of these

81. � 3it'td � '1 al � � 3il'ld � w.f17T if � ci6t � ffl {ftqja 3Nl<-I

82. 

� cRJ qft:IJ-1 � t ? 
(A) fTruc12 am:ft t

(CJ ��t 

(BJ 
{D) 

Jf other inputs are constant then increase in use of one input 
causes what changes in marginal output? 
(A) It decreases (B) It increases
(C) It remains constant (D) None of these
� 3W'RfT $ e.ti11if cJ;J -q-· ·� -iff lPiR � «R" � aN1<{.f 1'iffl f, 1R1

qi�E?ild t?

(A) ffJfh<ilC: cli5 . (B) 31.ffQJU.f � 
(C) ti&IE?ii'id 'bir (D) � � � .:rtf
What is the set of combinations of two inputs which Producesequal level of output called ? 

(A) laoquant curve (B) Indifference curve
� 

(C) Jsocost curve (DJ None of these l-...:.,...;:..-.---7,�2!44/J/AV/ixnuj-5�0-f-;13;--,=a,�,40�
il
���--Pi-ll8"_2_3_/_32 
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f.lq it� � �· ttm � �Ul61t'1 �-q"-qfflff � � 8ifi<il t ? 83. 

(A) � (B} � � 
i 

(C) l'fflr-1 (D) ��� l 
Quantities of which of the following inputs can be varied in the\ 

long run? \ 
(A) Labour (B) Raw material

(C) Machine (D} All of these 

�qia \"\l1ld cl'li lftaa Hl*ld it;t; 'ifit � � "-'{ l:fillal i ? 

(A) Jiitdq � � --{BJ �aq � "-lt 

(C) ��T.R {D) ���� 
At which point does marginal cost curve cut the average cost 
curve? 

(A) At highest point (B) At lowest point 
(C) At mid-point (D) None of the$C ·

85. qflq«f 34jQld � f:pfq-q llt;Qif; �j<lll-1 it qflq�-1 "ft9n '1ftffl t?

(A) ft:tll: 'Q.ci qft◄tff 3Tf1fflt � �$41d if 
(B) 4:1'\rtifl � � 3NI� � 343,(lld it

(C} 4l11h1 3fR � 3NI� iti 34j<lld it

(D) �it��
I.n the law of variable proportion, which proportion is varied ?

• (A) Proportion between fixe� and variable inputs 

(B) The ratio between marginal and average products 

(C) The proportion between marginal and total products 

(D) None of these 

86. � 3?41�◄ ' ctil<cM ,q t '!ff' � li6't � t:.(1e 3NI� � -sn- t '!rfl � li, 1
..-�,�? 

(A) 

{C) 

anfiu-1 341'4l<ft sml<fit-t (B) l18fll� 31fU<ft SIR1tfi<?t 

�. 31:l'll<ft gfttqwr (0) � V � �
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If there is an increase oft times in factors of production as a resultof which output increases t times then what will this be called ?
(A) Increasing returns to scale
(B} Decreasing returns to scale

(CJ Constant returns to scale 
(D) None of these

87. �-� f;pfu if i[f.a wnft t, � � �@44ileft4 tflqia Mt•@ q;r; -ij iMT qfht<R
��?

(A} ��t �fi1Ui423ffiftt 
(CJ ��t (D) �lf�;itf
As the quantity of input increases, in the beginning what change 
takes place in the short run m�nal cost curve ? 
(AJ Increases (BJ Declines 
(C} Remains constant (D} None of these 

88. f.tr::;r "ij � � 8¥/liMOI � t ?
� qft:qtff c?n'ld 

(A) a:mrn- qft:qdf cltlJd = . f.iifu

(B) � qft:qdf cli'ld = 3flml qft:qdf t"111id x 1ffllT
� Mf'ld 

{C) affffil clfJid = 
q

(DJ �ilf1fl' 

Which of the following equations is correct ?
Total variable cost 

(A> Average variable cost = 
0uqu: 

(BJ 

(CJ 

Total variable cost = Average Variable Cost x Quantity
Tot.al cost 

Average cost = q 
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. ,(DJ All of these 

-!!9 f,µ:,- if "1it., illfi', fq -,r,,; i!;l ;mii; 'i_'ldll ~ 111" ll°iRilT t ? 
(Aj tftqja t'-JJI@ 5 ~ Hl'ld q'Jlj ifiT 

--tar- :dJz,in HP@ u; •rr "''"1 iffli ~ 
(C) ~qiff Hl11i'J iff5 ~ Hl'ld U' if>) 
lDJ tdtl'lfi1#~ 

--------:---TI~~~~@;~;;Jr------....._ ___ . . [ 24/A/Xll-50JJ-e7140)/ _ 
' -

Previous Pathshala



m 

� 
l- • 

t 326} 

which cu 
Which of the following curves cuts rvc at it� minimum. 

point? 
(A) Marginal cost curve cuts Total coSt curve

(B . A ge cost curve
) Marginal cost curve cuts vera 

(C) Marginal ·cost curve cuts Fixed cost curve

(D) None of these
-q;q�� {iSII� �� <."11'kl � 3UR�'t?

(A) �qje, <."'1111<'1 (B) 3ftl@ .... q��(q::r.t,:ttff <."'1111<1

(C) �e,q � <."'ll'kt {D) '<."'i'N 
What is the difference between firm's total revenue and total cost?

(A) Marginal cost {B) Average variable cost 

(C) Minimum average cost (D) Profit
�����c€t�c€t ;AA��������t?

(A) ��t (Bl •Ht•R�t

(Cl cfiq�t (Dl �"Q�� 
As compared to the rate of interest on deposits in bank, the rate of 
interest on loans is 
(A) more (B) equal

(Cl less 
....+::r.rrr=:1+ 

(Dl none of these 

92. � fu;rcf � � � �1Rfi�11<."ft �-ij � � i oT � cflfT q:,):111 ?

(A) �Rcbl� � <1iT � �

-.4)· (-Rcbl� � "cbJ fc4sti<4 � 

(C) � � �j\41<1 if��

(D) �"Q��
What will the Reserve Bank do if it wants to increa�e high powe
money? 

(A) Will purchase government securities
(B) Will sell government securities

(C) Will increase cash reserve ratio

(D) None of these

24 / A/Xll-5013-t31/40, 
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93. ��C=C+cY�c...,t?
f 326 I 

(A) AC
A Y

........ 
1- (BJ =\..ffflf � � �'r

(C) t<f f4ti aqt;rttf {DJ FJif �· lflft
In consumption function C=C+cY, what is c ?
(A) AC

AY

(B} Minimum subsistence consumption
(Cj Autonomous consumption 
(D} AU of these 

94. f.:tR 11 cf)T-J lftftlcti t't � � t ?
(A) ilwi.f (BJ 1fcR 

{e) fhpti {D) 1liff 
Which of the following is not physical capital stock ? 
(AJ Machine (B) Buildings
(C) Roads . (D) Fruits

• 

95. Y =C+ I +G+ c (Y-IJ Ji •-ili1:r fqjqfl � i?

96. 

(A) C (B) I 

(CJ G (D) � "# ll'fi

In Y=C+ I+G+ c (Y-IJ, which of the following is autonomous 
term? 

(AJ C (BJ I 

(CJ · G (D) AU of these

3q1{f1f <68-1 C= C+ CY if C i.fiT � l1R � t?

(A) � li 31fqc6 (B) � * ii(r«

(C} �'1cfiJl (DJ �ltlPft 

What is the value of c in consumption function C= C+ c Y?

{AJ More than zero (B) Equal to one

(CJ Less than one (DJ All of these 

---------rf-::::2:--:-4 /-;:A:-;/;-;,;XI:-;;l"""c_5:no"l 3:;:·,=37:::,40t=· �,-----;::P:-
age

-. -:2:-=7'.""""/_3_2 

•

-

-

Previous Pathshala



m 
97. � �qia 3qlt)11 � 11:cfi\1lit�1f,11JRlPlljtrn?

(A) � - (B) 1

(C) l 000 (D) 31Eftq
· equal to one then whatIf the marginal propensity to consume 18

would be the value of multiplier ?

(A) Zero (B) l

(C) 1000 {D} Infinite
98. 1'\tli:ft qlrJ fe-Gid it 45° tffl qqt � t?

(A) Y = AD (B) AD == AS

(C) iii-ill( egl-1.:t.® (D) � it "81ft

In the theory of effective demand theory what does 45° line show? .. 

(A) Y• AD , (BJ AD= AS

(C) Market equilibrium line (D) All of the�e
99. �«lqia �•11c;�tcit�'iit1fmit'ifl.lT qftcea ... �·?

w·qift (BJ��
(C) � (D) � it � �

If the marginal propensity to save increases then what would
happen to quantity of savings ?
(A) Would increase (B) Would remain constant
(C) Would decrease

+-'11,h� 
(D) None of these

100. � qftcetfl 1fi\ qft\tltiil � r..""4a 1fin,;f � lR 16\ � t 'iflrl ibt;Mitft t ?
(A) RTifi ';!I{ (B) � 7cR
(C) �'ii{ (D) �i��
What arc the variables which are defined at a particular paint oi

time called ? 

(A) Stock variables (B) Flow variables
(C) Constant variables (D) None of these

24/ A/Xll-5013-taT/40t 
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11Ui - 11 / 8BCTION .. ■
I 326 J

'"l 'a'14h, ·""" I Bbort Anawer Type Qae1tlom 
111'1 MiNf l fr 30 i'J! ifff9tt f: I fn/f l/S ft l;I' ffl' f I - • ff/rrra• A11fflr1 t, .liRAi awr 40- som,n 'If' £ml: i, x 2. ,o' 
Question Nos. 1 to 30 are Short Answer Type. Answer any 15 queatiOM,Each question carries 2 marks, Write your answers in 40 � 50 wort.la each:

15 x 2 • 30
1. �-� 31tfc5qq� ,q- tigt,it:t 1ft 1i'n lffl t ? 2 

What are the conditions for equilibrium of two-sector economy ?
2. � � 11111 l} 3TfCt' Cfl.JT a1t$1cl f ? 2 

,•: What do you understand I»" bur.cte!l of debt ? 
' 

•' 3. d\llk 'QTa ll'n t ? 2 
What is revenue deficit ?

4. 1f'f Slfa�tff q;if 'ifi)' �qd fcfliifii(ifi .-.if tQT � t ?

Why is perfectly competitive firm called price taker ? 
5. ill\111( {igi't� � ,-ftld �fl11(1

.6. 

7. 

8. 

9. 

Draw the market equilibrium.
- Q.ifil�Efil( illJII( c#i) � fll�qdi� 151' �.sq lflR 16t1

Describe two characteristics of a monopoly mark.et in brief. 

� �·� t? 3Gll!f(UI �I

What is complementary good? Give examples. 
� llfir 1fifi Rtftla cfil JQl94, 11,iqa ""'1 lfit ffl e • 1 11' I 

Draw a demand curve whos,c price elasticity of demand e • 1.
llf,t� �qa fflcfqrt?

What is price elasticity of demand ? 

2 

2 

2 

2 

2 

2 

10. �-� � ft;ro; � Tfit llfrT 1fi1 elfi'fRUI ftirli1
2 

Write the equation for tranaactionary demand for money.
I 24/AiXU-�013-11,,40, I Page 29 / 32
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Define demand �eposit. 
12. � f\iitn &eftti � � Sltth441 QIU ;6U1 � t ?

By which process does bank provide loan to a person 7

13. ,,e,n;, Ef\qitf 3NH:,c6dl � l.f,1 �, 

State the law of diminishing marginal productivity• 

14. � q\\�df �,•ta cf56 R(fin, <fitt

Draw average variable cost curve.
15. �Ef\ SITI:t(l4!ff q;if � i6l•H:I fflT cffi � � � I

l 326 J
2 

2 

2 

2 

2 

Show the price line of a competitive firm with the help of diagram.
16. ct1tt sn;,fflq; �it�� ,gt�� t? 2. 

ls a country rich in natural resources prosperous ?

17. � \<.TEli'iffl � �� ��-lJq�\ 2 

Write the names of two stock variables and two flow variables.

• 

f.\4:fl it 3(Tq � (-iq$1d f ? � 1%tA � � 1 ?

What. do you understand by investment ? How 

investment are there?
-� · . �ti�•• it � it 31ttl cRt eit$a I ?

What do you understand by land in economics ? 

, . ...20:- �fl'�IIW � su,_;faq; e:r:u\4..J � ""1 atfld•I 1 ? 

2 

many types of 

2 

2 

21. 

What are the uses of natural resources in economics ? 
Qfi%1q; qg1sit!\ it -.u 1311 "' ? 2 

, What happened during global, depression ? 

22. P.ff.\qll � 11n � � -gTffl � � � qfl\41ft.t1 �l

Define exchange rate in terms of rupee and dollar. 

� 23
;,

auqt< tnlT -a 31ttt iP-ll Qq$1<\ 1 ? 2 

;: - What do you understand by trade deficit? �-.....:.:..:.:.::..:......;._--=----�1 ::-24-;;-/;-::A:-;/�x:;;11-;-s:::::0:--:-1=--a--,a-
T
,-
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2·1. � � t) 3lJq lf'ff l'-llf$f8 � ?

t 326 J 
2 

What do you understand by open economy ?
2s. 1NR�ltiT�1fitt 

Define budget Jine. 
:26. � 31�fti1tr-t ?.f'li lih1 ��(I ifj{f 

Draw consumer indifference curve. 
21. lWT��t?

What is demand function ?

2 

28. 111-ifl{ � � c;f ftt.\'lqdiJtt if>l "«¥tf -ij �fill(J 2 

Write in brief two characteristics of market ey011om>''- ··· 
2<J. a�n:;-1 � qJ6 � <:�1h11 � ? 

... 

What does production possibility curve show? 
:3o. ailhl(lf'iifi � Rtmtto, ll 3JJq'cfiJ � .s1fil�," t ? 

What do you mean by positive economic analysis? 

� aa4l11 sn;r / Long Anawer Type Queattona 

2 

.'ITR dlJ!lr 31 'II as ffllj' ild .sr1114 RR' I I fi$,,tlf 4 RRT '1- 'Rf' t ; urti,,; s­

fif'tr 5 ... f:ttJffiH t I JIQ.f) mi' 11?4¥ 100 · 120 'm,if q (' : 4 X 5 • 20 
Question Nos. 31 to 38 are Long Answer Type. Answer any 4 questions.
Each question carries 5 marks. Answer in 100 - 120 words each :

4 X 5 • 20

31 . cJiJ'I aq;c-, � JNJG q � � iifi<"4fUI -q i!fR 1'i1 �lffll t ? 5Ql(jqf 1fit 1 5 

32. 

33. 

Does increase in gross domestic product show an bnpro . · vement 1n
public welfare? Explain. 
� $. � �-cRI' f? 3GUJ(Of � lfr'1 fmit'

What are the important functions of money ? Write w·t·h· . 
" 

1 examples 
ftfacqf4ar � � i6t 641&4t ifilfll�, . · 

5 

Explain paradox of thrift. 
5 

f 24/A/}(II-5013-ca7/"'>I I 
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34. 

35. 

�(�lf1 ·� � �(�ff1 '5fiUT-q � ttaitt t? tSql(§ql tf;'tfJl�I 
What is the re!ationship between government 
government debt? Explain. 
&1-i�'IH lfj; �WU� tigtM � �I 

I 326 J
5 

deficit and 

5 

Show consumer's �quilibrium with the help of indifference curve.

36. � l'1tllfd, tftqj(f l'1tllld � 31'lJ6 �qi)� l::RT �I 5 

Show total cost, marginal cost and average cost with the help of 
diagrams. 

37. � gf(u:qfff q;lf � � J.tftii:fint;)c+;(UI q;) � W "{l:I'! ii{ I 5

Clarify profit maximization of a competitive firm with the help of
diagram.

38. A1-1a.q � ;f;lqd c61'-;flftf cfit ���I

Show the minimum support price policy with the help of diagram.

5 

-----------,�---------------------
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